Practice Paper - |
Class X for Compartment Students

(Mathematics/Tford)
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All the questions are compulsory.

Please write down the Serial Number of the question before attempting it.

The question paper consists of 15 questions and it is divided into four sections A, B,
CandD.

Section A comprises of 3 questions carrying 1 mark each.

Section B comprises of 3 questions carrying 2 marks each.

Section C comprises of 5 questions carrying 3 marks each.

Section D comprises of 4 questions carrying 4 marks each.

There is no overall choice. However, an internal choice has been provided in 1
guestion of 1 mark, 1 question of 2 marks, 2 questions of 3 marks and 1 question of
4 marks each. You have to attempt only one of the alternatives in all such
questions.

Use of calculator is not permitted.



Uis I

Section A
1. Ife 74, (252, 660) = 12 A1 A.9.( 252, 660) SITd BT |

If HCF (252, 660) = 12, find LCM ( 252, 660).
2. k& fbg 99 & foTv FHHRor 3x — y + 8 = 0 3R 6x — ky = —16 HUTKIT @Y
frefid axa g2
For what value of k, do the equation 3x —y + 8 = 0 and 6x — ky = — 16
represent coincident lines?
3. AR SIGl: 18, 15%, 13, ..., — 47 & UGl B AT A DHITY |
3RAdT
6 & UUH 10 UG B ANTHA AT DHITTY |
Find the number of terms in the A.P. : 18, 15%, 13, ..., — 47.
OR
Find the sum of first 10 multiples of 6.
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Section B
4. IfT 65 3R 117 & A9, Bl 656m — 117 & ®©Y § AT S7 Fbdl €, dI m

BT A ST DI |

3reraT
3egy 6 PIS = F9 QUi 6m AT 6m +2IT 6m +4 F ®U H BT 7, T8l

m ®ig YOI 7 |

If HCF of 65 and 117 is expressible in the form 65m — 117, then find the
value of m.

OR

Show that any positive even integer is of the form 6m or 6m + 2 or 6m + 4,
where m is some integer.

5. Q1 ARG HIVN H A 9 BT BT A BIC BT A 24° 31D 7| Sl BION
& A T DI |
The larger of two supplementary angles exceeds the smaller by 24°. Find
the angles.

6. AR Gl 3, 8, 13, .., 253 H 3IifH Ug | 20d Ug S HINY |
Find the 20" term from the last term of the A.P. : 3,8,13, ..., 253.
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A solid is in the form of a cylinder with hemispherical ends. The total
height of the solid is 20 cm and the diameter of the cylinder is 7 cm. Find

the total volume of the solid. (Use [] = %)

OR
A field is in the form of rectangle of length 20 m and width 14 m. A 10 m
deep well of diameter 7 m is dug in one corner of the field and the earth
taken out of the well is spread evenly over the remaining part of the field.

Find the rise in the level of the field. ( Use [] = %)
8. g PINT fF V3 T ke e 2 |

Prove that /3 is an irrational number.
9. FHIGRON x—y+1 =023 3x+2y-12=0HT UTH Hifau | IT%H gRI, x 3R y
& QI FHIBION DI AT B dlel A A BT |
31eqdr

x AR y & oy gt HIfTw:

152x—-378y=—-74

—378x + 152y =—- 604
Draw the graph of the equation x—y + 1 =0 and 3x + 2y -12 = 0. Using this
graph, find the values of x and y which satisfy both the equations.

OR

Solve for xand y :

152x —-378y=—-74

—378x + 152y =—- 604



10.Y[FTS A9 UelIReA & UANT W RN 867 3R 255 &I AH. 1A
DY |
Using Euclid’s division algorithm find the HCF of the numbers 867 and 255.
11.x IR y B foIU g HITW

X+y=a+b

ax—by =a’-b’
Solve for x and y:
X+y=a+b
ax—by=a2—b2
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Section D
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A boat goes 30 km upstream and 28 km downstream in 7 hours. In 5

hours, it can go 21 km upstream and 21 km downstream. Determine the
speed of the stream and that of the boat in still water.

OR
The sum of a two-digit number and the number obtained by reversing the
digits is 66. If the digits of the number differ by 2, find the number. How
many such numbers are there?

13.9% Sl &1 A1 HIfe 99 9o BC = 6 |HI, AB = 5 AT 3R
£ABC = 60°8T | R U& 3= Fn[a &1 <= oifoTy fgast oIy A ABC @t
AT oTIei By Z T B |
Construct a triangle ABC with side BC=6 cm, AB =5 cm and £ZABC = 60°.

: . 3 .
Then construct another triangle whose sides are " of the corresponding

sides of the triangle ABC.
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An open metallic bucket is in the shape of a frustum of a cone. If the

diameters of the two circular ends of the bucket are 45 cm and 25 cm and

the vertical height of the bucket is 24 cm, find the area of the metallic
sheet used to make the bucket. Also find the volume of the water it can
hold. (Use [] = %)

15. {3 FHIAR SIS B YH O GRS BT ANTH 18 B | A UgS SR RN
US T UMK, T4 AR DI 5 O BI, Al Il GARA Bl A DI |
The sum of the first three numbers in an A.P. is 18. If the product of the

first and the third term is 5 times the common difference, find the three
numbers.



